AT&T 12-State LSOR Job Aid


This job aid has been developed to assist in reading the new format of conditions in the Local Service Ordering Requirements (LSOR), which is an output of a Business Rule Engine (BRE).  The changes identified are to format only, the meaning or content of the conditions remain the same.  
	BRE Format Rule
	Meaning
	Current LSOR Example
	BRE Example

	Then Error
	Conditions are now structured to show situations that will cause an error.  
Previous LSOR versions identified situations when fields should or might be populated to create an LSR.  


	This condition would be on the Loop form; SLTN field and would include the following verbiage:

Required when 2nd position of TOS is P or R…
	If the LS:SLTN is not populated and position 2 of LSR:TOS does not equal P,R

Then Error.


	Form: Field name identified
	Fields identified as part of the condition will have a form identifier prior to the field name.
	This condition would be on the Loop form; LNA field and would include the following verbiage:

…LNA is T…


	<Form>: <Field Name> “equals” or “does not equal” – usually indicates the value(s) to be found/not found in the field

…and the LS:LNA equals T…

Indicates a condition related to the Loop form, LNA field equal to “T” 


	
	
	This condition would be on the Loop form; ECCKT field and would include the following verbiage:

Required when ….
	<Form>: <Field Name> is “populated” or “not populated”

If the LS:ECCKT is not populated…

Indicates a condition when the Loop form, ECCKT field is not populated.



	Multiple Form Name with same Field Name
	Since fields are identified in conjunction with the form, this convention may result in multiple conditions, each reading the same with the exception of the form addressed. 

Examples of the same field name on multiple forms:

LS:ECCKT, RS:ECCKT, etc.
RS:TNS, CRS:TNS, etc.

NP:LNUM, LSNP:LNUM, RS:LNUM, etc.


	This condition would be on the End User form; SASN field and would include the following verbiage:

Prohibited when REQTYP is E, F, M, T, U, V, X or W, ACT is C and all LNAs are D…


	If the EU:SASN is populated
and position 1 of LSR:REQTYP equals F,M
and the LSR:ACT equals C

and the PS:LNA equals D. Then Error.

If the EU:SASN is populated

and position 1 of LSR:REQTYP equals E 

and the LSR:ACT equals C 

and the RS:LNA equals D. Then Error.



	Comma separated values
	Used for a list of values that indicate an “or” condition.  (A comma means “or”.)
	This condition could be on multiple forms; multiple fields and would include the following verbiage:

REQTYP is A, E or …

	If the LSR:EXP is populated

and position 1 of LSR:REQTYP equals A,E,M 

and the LSR:RESID is populated. 

Then Error.
In the example, the REQTYP first position can be A or E or M for this condition to apply.



	If the <field> is not populated…
	Identifies the field that is required under the conditions listed.  Without this required field, an error message will be sent to the CLEC. 
	This condition would be on the Loop form; CCEA field and would read:
Required if REQTYP A, ACT N and 2nd position of TOS is P.
	If the LS:CCEA is not populated 

and the LSR:ACT equals N 

and position 2 of LSR:TOS equals P. 

Then Error. 
In the example, CCEA is required when the ACT is N and the 2nd position of TOS equals P.



	If the <field> is populated…
	Identifies the field that is prohibited under the conditions listed.  By populating the identified field under the conditions listed, an error message will be sent to the CLEC. 
	This condition would be on the Loop form; LMT field and would read:
Prohibited when REQTYP A, and LNA is D.
	If the LS:LMT is populated 

and position 1 of LSR:REQTYP equals A 

and the LS:LNA equals D. 

Then Error. 

In this example, entry in the LMT field is prohibited when the REQTYP is A and the LNA is D. 



	Multiple Conditions
	Uses two conditions to address required and prohibited elements of a condition.  
Conditions that identified “Required….else prohibited” in one LSOR statement will now be broken into two (or more) conditions – one if the field is populated (prohibited) and another if the field is not populated (required.)
	This condition would be on the Loop form; SLTN field and would read:

Required when 2nd position of TOS is P or R, otherwise prohibited when TOS is populated and 2nd position of TOS is not P or R. 


	If the LS:SLTN is not populated and position 2 of LSR:TOS:VALUE equals P,R

Then Error.
In the example, SLTN is required when the 2nd position of TOS equals P or R
If the LS:SLTN is populated
and position 2 of LSR:TOS does not equal P,R

Then Error. 

In this example, SLTN is prohibited when the 2nd position of TOS does not equal P or R.  



	Optional Conditions removed
	“Optional” conditions will no longer be addressed in the BRE.  However, when data is entered in any field, it must be valid and it will be edited.


	This condition would be on the Directory Listings form; LASN field and would read:

Required when SC is CA, ADI and LALOC are not populated, otherwise optional.
	Example of Optional conditions removed:

If the DL:LASN is not populated

and LSR:SC equals CA
and DL:ADI is not populated

an DL:LALOC is not populated,

Then Error.



	Position <#> of <field>
	Used for fields where the rule is applied to only certain positions within the field entry.

This is most commonly used for the REQTYP and TOS fields.
	This condition would be on the Loop form; SLTN field and would read:

Required when 2nd position of TOS is P or R…


	If the LS:SLTN is not populated

and position 2 of LSR:TOS equals P,R.

Then Error. 



	
	
	This condition would be on the LSR form, EXP field would read:

Prohibited when REQTYP is A, and RESID is populated.


	If the LSR:EXP is populated

and position 1 of LSR:REQTYP equals A

and the LSR:RESID is populated. 

Then Error

	Segment or Element
	Relates to a portion of the field, as defined by the Carrier Coding Guide or other guidelines.  
	This condition would be on the LSR form; VTA field and would read:

When REQTYP is K or T, the only valid characters in Segment 1 are 12, 36 or 60


	If the LSR:VTA is populated

and position 1 of LSR:REQTYP equals K,T

and segment 1 does not equal 12, 36 or 60. 

Then Error.

In the example, the entry in segment 1 of the VTA field must equal “12”, “36”, or “60”.



	
	
	This  condition would be on the Loop form, CFA field and would read:

Elements 4 & 5 cannot both be 8 characters.


	If the LS:CFA is populated 

and the LS:CFA element 4 length equal to 8 

and the LS:CFA element 5 length equal to 8. 

Then Error.


Additional examples:
	Current LSOR Example
	BRE Example 

	SPEC is required when REQTYP is A or B, LNA is N, T, or V, NC is not ADPA (IDSL), SLI is not populated, 2nd position of TOS is not R or P, and SEC NCI is not 02DU5.00X (X = 1, 2, 3, 4, 7 or 8), 02DU9.005, 02DU9.007, 04DU5.003, or NC is IA-- and SECNCI is 02DU5.001.
	If the LSR:SPEC is not populated and position 1 of LSR:REQTYP equals A and the LS:LNA equals N,T,V and ( (the LSR:SLI is not populated and position 2 of LSR:TOS does not equal R,P and  the LSR:NC does not equal ADPA and the LSR:SECNCI does not equal values 02DU5.001, 02DU5.002,02DU5.003,02DU5.004,02DU5.007,02DU5.008,02DU9.005,02DU9.007, 04DU5.003 ) or ( the LSR:NC equals IA-- and the LSR:SECNCI equals 02DU5.001 ) ). Then Error.

If the LSR:SPEC is not populated and position 1 of LSR:REQTYP equals B and ( (the LSR:SLI is not populated and position 2 of LSR:TOS does not equal R,P and the LSR:NC does not equal ADPA and the LSR:SECNCI does not equal values 02DU5.001,02DU5.002,02DU5.003, 02DU5.004,02DU5.007,02DU5.008,02DU9.005,02DU9.007, 04DU5.003 ) or ( the LSR:NC equals IA-- and the LSR:SECNCI equals 02DU5.001 ) ). Then Error.



	SASN is required when SC is MO, OK, KS, AR, or TX, REQTYP is E, F, M, T, U or W, ACT is V, HA is N and all TNS values matching an HTN or TLI of the HA of N HNUM have an LNA of N.
	If the EU:SASN is not populated and the LSR:SC equals AR,KS,MO,OK,TX and position 1 of LSR:REQTYP equals E and the LSR:ACT equals V and the RS:LNA equals  N and the HGI:HA equals N and all RS:TNS values match HGI:HTN or HGI:TLI values

Then Error

If the EU:SASN is not populated and the LSR:SC equals AR,KS,MO,OK,TX and position 1 of LSR:REQTYP equals F,M and the LSR:ACT equals V and the PS:LNA equals  N and the HGI:HA equals N and all PS:TNS values match HGI:HTN or HGI:TLI values

Then Error

If the EU:SASN is not populated and the LSR:SC equals AR,KS,MO,OK,TX and position 1 of LSR:REQTYP equals T and the LSR:ACT equals V and the DPR:LNA equals  N and the HGI:HA equals N and all DPR:TNS values match HGI:HTN or HGI:TLI values

Then Error. 

If the EU:SASN is not populated and the LSR:SC equals AR,KS,MO,OK,TX and position 1 of LSR:REQTYP equals U,W and the LSR:ACT equals V and the DPU:LNA equals  N and the HGI:HA equals N and all DPU:TNS values match HGI:HTN or HGI:TLI values

Then Error.
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